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1. #4ECBDF HBA84 BJ9ABKAOI ED98EF6 

1.1 "5M<9 CB?B:9A<S. 

(BA8 BJ9ABKAOI ED98EF6 CD98A4;A4K9A 8?S CDB69D>< D9;G?PF4FB6 BE6B9A<S GK95AB= 

8<EJ<C?<AO %�*.03. �ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 89SF9?PABEF< CDB7D4@@O 

CB87BFB6>< EC9J<4?<EFB6 ED98A97B ;69A4 CB EC9J<4?PABEF< 21.02.03 «%BBDG:9A<9 < 

Q>EC?G4F4J<S 74;BA9HF9CDB6B8B6 < 74;BA9HF9ID49<?<M». 

("% 6>?RK49F BJ9ABKAO9 @4F9D<4?O 8?S CDB6989A<S F9>GM97B >BAFDB?S 

GEC9649@BEF<, CDB@9:GFBKAB= 4FF9EF4J<< 6 HBD@9 8<HH9D9AJ<DB64AAB7B ;4K9F4. 

�FB7B@ 8<HH9D9AJ<DB64AAB7B ;4K9F4 S6?S9FES BJ9A>4 6 54??4I:  

5 – «BF?<KAB»; 4 – «IBDBLB»; 3 – «G8B6?9F6BD<F9?PAB»; 2 – «A9G8B6?9F6BD<F9?PAB». 

("% CB;6B?S9F BJ9A<64FP GDB69AP BE6B9A<S ;A4A<= < G@9A<=, >B@C9F9AJ<= CB 

GK95AB= 8<EJ<C?<A9. 

1.2 $9;G?PF4FO BE6B9A<S GK95AB= 8<EJ<C?<AO, CB8?9:4M<9 >BAFDB?R. 

$9;G?PF4FO B5GK9A<S (BE6B9AAO9 G@9A<S, 
;A4A<S, CD4>F<K9E><= BCOF) 

(BD@O < @9FB8O >BAFDB?S < BJ9A>< 
D9;G?PF4FB6 B5GK9A<S 

'@9FP:   

1. "5M4FPES (GEFAB < C<EP@9AAB) A4 
<ABEFD4AAB@ S;O>9 A4 CDBH9EE<BA4?PAO9 < 
CB6E98A96AO9 F9@O; 

- 8B@4LA99 ;484A<9 CDB5?9@AB7B 
I4D4>F9D4; 

- CD4>F<K9E><9 ;484A<S CB D45BF9 E 
<AHBD@4J<9=, 8B>G@9AF4@<, 
?<F9D4FGDB=; 

-;4M<F4 <A8<6<8G4?PAOI < 7DGCCB6OI 
;484A<= CDB9>FAB7B I4D4>F9D4. 

2. C9D96B8<FP (EB E?B64DT@) <ABEFD4AAO9 
F9>EFO CDBH9EE<BA4?PAB= A4CD46?9AABEF<; 
3. E4@BEFBSF9?PAB EB69DL9AEF6B64FP GEFAGR < 
C<EP@9AAGR D9KP; 
4. CBCB?ASFP E?B64DAO= ;4C4E. 

�A4FP:  

�9>E<K9E><= (1200-1400?9>E<K9E><I 98<A<J) < 
7D4@@4F<K9E><= @<A<@G@, A9B5IB8<@O= 8?S 
KF9A<S < C9D96B84 (EB E?B64DT@) <ABEFD4AAOI 
F9>EFB6 CDBH9EE<BA4?PAB= A4CD46?9AABEF<. 

- FD48<J<BAA4S E<EF9@4 BF@9FB> 6 
54??4I ;4 >4:8GR 6OCB?A9AAGR D45BFG, 
A4 BEAB69 >BFBDOI 6OEF46?S9FES 
<FB7B64S BF@9F>4; 

-@BA<FBD<A7 DBEF4 F6BDK9E>B= 
E4@BEFBSF9?PABEF< < A46O>B6 CB?GK9A<S 
AB6B7B ;A4A<S >4:8O@ B5GK4RM<@ES. 

 

$9;G?PF4FO B5GK9A<S (BE6B9AAO9 
"� < #�) 

"EAB6AO9 CB>4;4F9?< 
BJ9A>< D9;G?PF4F4 

(BD@O < @9FB8O 
>BAFDB?S < BJ9A>< 
D9;G?PF4FB6 B5GK9A<S 
(E CD<@9A9A<9@ 
4>F<6AOI < 
<AF9D4>F<6AOI 
@9FB8B6) 
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"� 01. �O5<D4FP ECBEB5O 
D9L9A<S ;484K CDBH9EE<BA4?PAB= 
89SF9?PABEF< CD<@9A<F9?PAB > 
D4;?<KAO@ >BAF9>EF4@. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
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EB7?4EAB ;484AAB= E<FG4J<<. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 02. �ECB?P;B64FP EB6D9@9AAO9 
ED98EF64 CB<E>4, 4A4?<;4 < 
<AF9DCD9F4J<< <AHBD@4J<<, < 
<AHBD@4J<BAAO9 F9IAB?B7<< 8?S 
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D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 03. #?4A<DB64FP < 
D94?<;B6O64FP EB5EF69AAB9 
CDBH9EE<BA4?PAB9 < ?<KABEFAB9 
D4;6<F<9, CD98CD<A<@4F9?PE>GR 
89SF9?PABEFP 6 CDBH9EE<BA4?PAB= 
EH9D9, <ECB?P;B64FP ;A4A<S CB 
H<A4AEB6B= 7D4@BFABEF< 6 
D4;?<KAOI :<;A9AAOI E<FG4J<SI. 

- 89@BAEFD4J<S ECBEB5ABEF< 
CD<A<@4FP D9L9A<S 6 
A9EF4A84DFAOI < 
EF4A84DFAOI E<FG4J<SI < 
A9EF< ;4 A<I 
BF69FEF69AABEFP. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 04. 1HH9>F<6AB 
6;4<@B89=EF6B64FP < D45BF4FP 6 
>B??9>F<69 < 6 >B@4A89.  

- 4>F<6AB9 <ECB?P;B64A<9 6 
GK95AB= 89SF9?PABEF< 
<AHBD@4J<BAAOI < 
>B@@GA<>4J<BAAOI 
D9EGDEB6; 
- 7D4@BFAB9 D9L9A<9 
E<FG4J<BAAOI ;484K E 
CD<@9A9A<9@ 
CDBH9EE<BA4?PAOI G@9A<= 
< ;A4A<=. 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 05. "EGM9EF6?SFP GEFAGR < 
C<EP@9AAGR >B@@GA<>4J<R A4 
7BEG84DEF69AAB@ S;O>9 
$BEE<=E>B= (989D4J<< E GK9FB@ 
BEB59AABEF9= EBJ<4?PAB7B < 
>G?PFGDAB7B >BAF9>EF4. 
 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 06. #DBS6?SFP 7D4:84AE>B-
C4FD<BF<K9E>GR CB;<J<R, 
89@BAEFD<DB64FP BEB;A4AAB9 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 



 6 

 

 

#DB7D4@@4 6BEC<F4A<S 6 D45BK9= CDB7D4@@9 GK95AB= 8<EJ<C?<AO BFD4:49FES K9D9; 

EB89D:4A<9 A4CD46?9A<= 6BEC<F4F9?PAB= D45BFO, D4;5<FOI A4 E?98GRM<9 6BEC<F4F9?PAO9 

@B8G?<: 

 B8G?< CDB7D4@@O 
6BEC<F4A<S 

%B89D:4A<9 @B8G?S CDB7D4@@O 6BEC<F4A<S 

 B8G?P 1 
«#DBH9EE<BA4?PAB-
?<KABEFAB9 6BEC<F4A<9» 

Ц9?P @B8G?O: EB;84FP GE?B6<S 8?S HBD@<DB64A<S 
CE<IB?B7<K9E>B= < CD4>F<K9E>B= 7BFB6ABEF< B5GK4RM<IES > 
BEGM9EF6?9A<R FDG8B6B= 89SF9?PABEF< CB 6O5D4AAB= 
CDBH9EE<<, C?4A<DB64A<9 ?<KABEFAB7B CDBH9EE<BA4?PAB7B 
DBEF4.  
З484G< @B8G?O: 

 A4GK<FP BEGM9EF6?SFP CB<E> < <ECB?P;B64A<9 
<AHBD@4J<<, A9B5IB8<@B= 8?S QHH9>F<6AB7B 
6OCB?A9A<S CDBH9EE<BA4?PAOI ;484K, 
CDBH9EE<BA4?PAB7B < ?<KABEFAB7B D4;6<F<S;  

 A4GK<FP BD<9AF<DB64FPES 6 GE?B6<SI E@9AO F9IAB?B7<= 
6 CDBH9EE<BA4?PAB= 89SF9?PABEF<;  

 HBD@<DB64FP CBA<@4A<9 EGMABEF< < EBJ<4?PAB= 
;A4K<@BEF< 5G8GM9= CDBH9EE<<, GEFB=K<6O= <AF9D9E > 
A9=;  

 D4;6<64FP G@9A<9 BD74A<;B6O64FP EB5EF69AAGR 
89SF9?PABEFP, 6O5<D4FP F<CB6O9 @9FB8O < ECBEB5O 
6OCB?A9A<S CDBH9EE<BA4?PAOI ;484K, BJ9A<64FP <I 
QHH9>F<6ABEFP < >4K9EF6B. 

CB6989A<9 A4 BEAB69 
FD48<J<BAAOI B5M9K9?B69K9E><I 
J9AABEF9=, 6 FB@ K<E?9 E GK9FB@ 
74D@BA<;4J<< @9:A4J<BA4?PAOI 
< @9:D9?<7<B;AOI BFABL9A<=, 
CD<@9ASFP EF4A84DFO 
4AF<>BDDGCJ<BAAB7B CB6989A<S. 

6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 

EC9J<4?PABEF< 

 - %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 

- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S CDBH9EE<BA4?PAOI 
;484K E EB5?R89A<9@ 
F9IA<>< 59;BC4EABEF< < 
EB7?4EAB ;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI 
ED98EF6 8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 09. #B?P;B64FPES 
CDBH9EE<BA4?PAB= 8B>G@9AF4J<9= 
A4 7BEG84DEF69AAB@ < 
<ABEFD4AAB@ S;O>4I. 
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 B8G?P 2 
 «�D4:84AE>B-
C4FD<BF<K9E>B9 
6BEC<F4A<9» 

Ц9?P @B8G?O: EB;84FP GE?B6<S 8?S HBD@<DB64A<S EBJ<4?PAOI < 
?<KABEFAOI >4K9EF6 B5GK4RM<IES, 8?S A4<5B?99 CB?AB= <I 
D94?<;4J<< A4 5?47B B5M9EF64, 6BEC<F4A<9 7D4:84A<A4, 
C4FD<BF4 E6B9= $B8<AO, 7BFB6B7B > ;4M<F9 "F9K9EF64. 
З484G< @B8G?O: 

 HBD@<DB64FP J9AABEFAB9 BFABL9A<9 > $BEE<<, E6B9@G 
A4DB8G, 7BEG84DEF69AAB= E<@6B?<>9, ;4>BA4@ $( A4 
CD<@9D4I <ECB?A9A<S 7D4:84AE>B7B < C4FD<BF<K9E>B7B 
8B?74 DBEE<=E><I 7D4:84A; 

 D4;6<FP G EFG89AFB6 ECBEB5ABEFP > E4@BD94?<;4J<< 
K9D9; 6>?RK9A<9 <I 6 B5M9EF69AAGR < >G?PFGDAGR 
:<;AP; 

 HBD@<DB64FP >4K9EF64 7D4:84A<A4 < C4FD<BF4 K9D9; 
EB;84A<9 6B9AAB-C4FD<BF<K9E>B7B B5N98<A9A<S. 

 B8G?P 3 «(<;<K9E>4S 
>G?PFGD4 < 
;8BDB6P9E59D9:9A<9» 

Ц9?P @B8G?O: EB;84FP GE?B6<S 8?S D4;6<F<S G B5GK4RM<IES, 
@BF<64J<BAAB - J9AABEFAB9 BFABL9A<9 > H<;<K9E>B= >G?PFGD9, 
GEF4AB6>G A4 ;8BDB6O= B5D4; :<;A<, H<;<K9E>B9 
E4@BEB69DL9AEF6B64A<9 < E4@B6BEC<F4A<9, CBFD95ABEFP 6 
D97G?SDAOI ;4ASF<SI H<;<K9E><@< GCD4:A9A<S@<. 
З484G< @B8G?O: 

 A4GK<FP CD<ASFO@ 6 B5M9EF69 CD46<?4@ < ABD@4@ 
CDBH<?4>F<>< < EBID4A9A<S ;8BDB6PS: EB@4F<K9E>B7B, 
H<;<K9E>B7B, CE<IB?B7<K9E>B7B, 8GIB6AB- 
AD46EF69AAB7B, EBJ<4?PAB7B;  

 EHBD@<DB64FP J9AABEFAB9 BFABL9A<9 > >G?PFGD9 
;8BDB6PS < ;8BDB6B@G B5D4;G :<;A<, > EBID4A9A<R, 
CDBH<?4>F<>9 < G>D9C?9A<R ;8BDB6PS;  

 CBCG?SD<;<DB64FP ED98< B5GK4RM<IES J9AABEF< 
>G?PFGDO ;8BDB6PS < ;8BDB6B7B B5D4;4 :<;A< 6 
EB5EF69AAB= E9@P9. 

 B8G?P 4 «�G?PFGDAB-
F6BDK9E>B9 6BEC<F4A<9» 
 

Ц9?P @B8G?O: EB;84FP GE?B6<S 8?S D4;6<F<S F6BDK9E><I 
ECBEB5ABEF9= B5GK4RM<IES, EBID4A9A<S ?GKL<I 8GIB6AOI 
FD48<J<=, A4J<BA4?PAB= >G?PFGDO.  
З484G< @B8G?O: 

 A4GK<FP CD<ASFO@ 6 B5M9EF69 CD46<?4@ < ABD@4@ 
CB6989A<S;  

 D4;6<64FP F6BDK9E><9 ECBEB5ABEF< EFG89AFB6 
CBED98EF6B@ <I 6B6?9K9A<S 6 >G?PFGDAB @4EEB6O9 
@9DBCD<SF<S;  

 HBD@<DB64FP CDBJ9EE CB6OL9A<S B5M97B >G?PFGDAB7B 
GDB6AS B5GK4RM<IES K9D9; CD<B5M9A<9 > @<DB6O@ 
>G?PFGDAO@ FD48<J<S@, EB6D9@9AAB@G <E>GEEF6G. 

 B8G?P 5 
«1>B?B7<K9E>B9 
6BEC<F4A<9» 
 

Ц9?P @B8G?O: EB;84FP GE?B6<S 8?S HBD@<DB64A<S G 
B5GK4RM<IES ECBEB5ABEF< > 4>F<6AB= CD<DB8BBID4AAB= 
89SF9?PABEF<, K9D9; E<EF9@G Q>B?B7<K9E>B7B B5D4;B64A<S < 
6BEC<F4A<S. 
З484G< @B8G?O: 

 A4GK<FP EB;A464FP CD<DB8G >4> ED98G E6B97B B5<F4A<S, 
A9B5IB8<@BEFP <ECB?P;B64FP ;A4A<S B CD<DB89 E J9?PR 
99 EBID4A9A<S, <ECB?ASFP Q>B?B7<K9E><9 B5S;4AABEF< 
7D4:84A; 
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 HBD@<DB64FP 7D4:84AE>GR CB;<J<R 6 D9L9A<< 
Q>B?B7<K9E><I CDB5?9@;  

 D4;6<64FP Q>B?B7<K9E>GR BF69FEF69AABEFP, A4 BEAB69 
E<EF9@AOI ;A4A<= B5 Q>B?B7<K9E><I CDB5?9@4I 
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&9EFB6O9 ;484A<S > 
;4KTFG. 

 

 

 

 

 

3. (BA8 BJ9ABKAOI ED98EF6  8?S F9>GM97B >BAFDB?S  
 

&5<0 1.1 : « %8AB5<0 >1@07>20=8S 2 $>AA88 8 �5;8:>1@8B0=88» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (GEFAB) 

 

Read the sentences, point out the Continuous Tenses. Give the Russian equivalents. 

#@>G8B09B5 ?@54;>65=8S, >?@545;8B5 2@5<5=0 3@C??O Continuous. �09B5 
@CAA:85 Q:2820;5=BO. 

 

1. We use this scheme when we are discussing the problem.  

2. Now he is sitting at the lesson. 

3. These learners are working now at about the same speed as their classmates. 

4. At 10 o’clock tomorrow he will be taking the exam. 
5. He is watching TV at the moment. 

6. Primary school pupils are being taught such skills as reading, writing, and arithmetic. 

7. They were receiving instructions in different subjects the whole month. 

8. At the moment the pictures are being described by the pupils. 

9. He was visiting the museum from 4 till 6 o’clock yesterday. 
10. The classes are being attended by the students all the term. 

 

 
&5<0 1.2 «�0I8B0  >:@C60RI59 A@54O» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 
 

Continue the following statements. 

#@>4>;68B5 A;54CRI85 CB25@645=8S 
 

1. The forest protects the Earth from erosion &&.. . 
2. Under the branches of higher trees, there are &&.. . 
3. When man breathes, he &&& . 
4. During the photosynthesis &&& . 
5. In his activity, man needed timber &&&.. . 
6. Recently scientists have found out that ecological crises &&& 

7. If the forest is destroyed because of commercial interests &&.. . 
8. Our country protects forests: in 1942 &&& 

9. Because of people forest fires take place, and if will take &&. 
10. Only if we take care of Earth &&&. . 
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&5<0 1.3. « %@54AB20 :><<C=8:0F88» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 
 

Make a sentence out of the two parts. 

%>AB02PB5 ?@54;>65=8S. 
 

1. The first black-and-white nine-by-

by-twelve inch TV sets 

2. In a surprisingly short time 

 

 

3. At present 

 

4. Satellite and cable TV make it 

possible 

5. Recently black-and-white TV 
 

 

6. The next major advance in  
 

 

7. The invention of high definition 

television with a picture resembling a 

wide screen film 

1. has been replaced by colour 

television  

2. the development of TV became 

digital television in which the usual 

signal is replaced by a digital code. 

3. were of historical importance in 

1939 

4. television has had great influence 

on people’s life and way of thinking 
5. is the most important stage in the 

development of TV since the 

appearance of colour television 

6. to watch TV programs in different 

parts of the country and throughout 

the world 

7. there are different kinds of 

television systems: satellite, cable, 

colour, pocket-size, digital, high-

definitional television 

 

 

 

&5<0 1.4 «�R48, 2=5AH85 2:;04 2 @0728B85 >B@0A;8» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 

 

Read the international words, transcribe and translate them. 

#@>G8B09B5 8=B5@=0F8>=0;P=O5 A;>20, 70?8H8B5 B@0=A:@8?F8R 8 ?5@52548B5 8E. 
 

Natural, gas, industry, process, fact, product, production, construction, potential, economic, 

operation, control, type, electric, motor, phase, container, transport, stimulation, physical, 

chemical, reservoir, form, mixture, component, mix, transformation, diesel, atmosphere, 

distillation, temperature, methane, propane butane, kerosene, conversion, molecule. 

 

Analyze the following words with different suffixes and divide them into two groups – 
nouns and adjectives: 

#@>0=0;878@C9B5 A;54CRI85 A;>20 A @07;8G=O<8 ACDD8:A0<8 8 @0A?@545;8B5 8E =0 
425 3@C??O – ACI5AB28B5;P=O5 8 ?@8;030B5;P=O5: 
Important, connection, production, petrochemical, scientific, primary, development, chemical, 

significant, importance, abandonment, pressure, physical, economic, stimulation, exploration, 

geophysical, construction, equipment, appearance, different, available. 

 

&5<0 1.5 « "B@0A;52O5 ?@>D5AA88 8 A?5F80;P=>AB8» 
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ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 

 

Read and translate the text in writing. 

#@>GB8B5 B5:AB 8 2O?>;=8B5 7040=85 ?>A;5 =53>. �O?>;=8B5 ?8AP<5==O9 ?5@52>4 
B5:AB0. 
 

                                                The history of oil industry 

 

To trace back – 6BEIB8<FP > BCD989?TAAB@G C9D<B8G 6 CDBL?B@; 
Steam engine – C4DB6B= 86<74F9?P; 
To spark – CB5G:84FP; 
An oil boom – A9HFSAB= 5G@; 

To buy out competitors – 6O>GC4FP >BA>GD9AFB6; 
Associates – C4DFATDO; 

To spread – D4ECDBEFD4ASFPES; 
To take the lead – ;4A<@4FP C9D6B9 @9EFB; 
Annual – 9:97B8AO=; 
To replace – ;4@9ASFP. 
 

Many centuries ago, Native Americans used crude oil for fuel and medicine. But the start of the 

oil industry as it is known today can be traced back to 1859. In that year, retired railroad 

conductor Edwin L. Drake drilled a well near Titusville, Pennsiylvania. The well powered by an 

old steam engine, soon produced oil and sparked an oil boom. By the 1860’s, wooden derricks 
had covered the hills of western Pennsylvania. In 1865, the first successful oil pipeline was built 

from an oil field near Titusville to a railroad station five miles away. From there, railcars 

transported oil to refineries on the Atlantic coast. 

The business of refining oil was largely the domain of John D. Rockefeller. The New York-born 

industrialist financed his first refinery in 1862. Then he went on to buy out competitors, and, 

along with his brother, William, and several associates, he created Standard Oil Company. By 

1878, Rockefeller had controlled 90 per cent of the oil refineries in the United States. 

Drilling for oil spread quickly beyond Pennsylvania. By 1900, Texas, California, and Oklahoma 

had taken the lead in oil production, and eleven other states had had active oil deposits. Annual 

U.S. oil production climbed from two thousand barrels in 1859 to 64 million barrels in 1900. 

Other countries were also getting into the oil business. Russia was producing slightly more than 

the United States around the beginning of the twentieth century. Smaller producers were Italy, 

Canada, Poland, Peru, Venezuela, Mexico, and Argentina. The first major oil discovery in the 

Middle East occurred in Iran in 1908. Prospectors struck oil in Iraq in 1927 and in Saudi Arabia 

in 1938. 

The demand for petroleum products became even greater after World War 11. Petroleum use in 

the United States went from about 1,75 billion barrels in 1946 to almost 2,5 billion barrels in 

1950. By the early 1950s, petroleum had replaced coal as the country’s chief fuel. And plastic 
was the primary reason.  

 

 Agree or disagree with the following statements. 

%>3;0A8B5AP 8;8 =5 A>3;0A8B5AP A 40==O<8 CB25@645=8S<8 

 

1. Many centuries ago Native Americans used crude oil for fuel and medicine. 2. By 1860s 

wooden derricks had covered the hills of Western Pennsylvania. 3. The business of oil refining 

was mainly Ford’s domain. 4. Fourteen states had active oil deposits. 5. The first major oil 

discovery in the Middle East occurred in 1908. 
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&5<0 1.6  « !5DBS=O5 8 307>2O5 <5AB>@>645=8S @538>=0» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (D45BF4 6 7DGCC4E) 

 

Make up group story about the oil and gas industry according to the following points of 

the plan. The words and phrases are supposed to make your story logical and 

interesting. 

#>43>B>28BP 3@C??>2>5 A>>1I5=85 (?> 3 G5;.) > =5DBS=>9 8 307>2>9 
?@><OH;5==>AB8, 8A?>;P7CS 40==O5 =865 A2545=8S. 
 

1. The primary products of the oil & gas industry 

    The oil and gas industry is 

    The primary products of the industry are 

2. The major processes of the oil & gas industry 

    Exploration involves 

    Well development means  

    Production is 

    Site abandonment embraces 

3. Production equipment 

   Drilling rigs is removed 

   Production rig is installed 

   Tubing is installed 

    Pumps are added 

4. Stimulation 

    Stimulation the formation can be done by 

    Stimulation is used 

5. The product of distillation 

   There are 

    Residual products are processed 

 

 

&5<0 1.7  «�AB>@8S =5DB54>1OG8» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 
 

Make up general and disjunctive questions and answer them according to the models. 

%>AB02PB5 >1I85 8 @0745;8B5;P=O5 2>?@>AO 8 >B25BPB5 =0 =8E A>3;0A=> <>45;8. 
 

Model A: The industry produces crude oil, natural gas liquids, and  

                 natural gas. 

                 Does the industry produce crude oil, natural gas liquids,  

                 and natural gas? – Yes, it does.  

                 The industry produces crude oil, natural gas liquids, and  

                 natural gas, doesn’t it? – Yes, it does. 

 

1. Exploration involves the search of rock formation and exploratory drilling. 2. Well 

development means the construction of one or more wells. 3. Production aims at extracting the 

hydrocarbons. 4. Production equipment plays a prominent role. 5. A well contains enough 

pressure to push oil to the surface.    

 

 

Model B:  Native Americans used crude oil for fuel and medicine.  
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               Did Native Americans use crude oil for fuel and medicine? 

               - Yes, they did. 

               Native Americans used crude oil for fuel and medicine, 

               didn’t they?- 

              Yes, they did. 

1. Retired railroad conductor E. Drake drilled a well in Pennsylvania. 2.In 1860s wooden 

derricks covered the hills of western Pennsylvania. 3. J.D. Rockefeller dominated in the 

oil refining business. 4. He bought out his competitors. 5. The first major oil discovery in 

the Middle East occurred in Iran in 1908. 

 

 

&5<0 1.8 «%2>9AB20 =5DB8» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 
 

Translate the following sentences from Russian into English. 

�O?>;=8BP ?8AP<5==O9 ?5@52>4 ?@54;>65=89 A @CAA:>3> S7O:0 =0 0=3;89A:89. 
 

1. !9HFP – QFB CD<DB8A4S E@9EP G7?96B8BDB8B6. 
2. �B5OK4 – QFB CDBJ9EE BK<EF>< 8B5OFB= A9HF< BF A9HFSAB7B 74;4, D4;?<KAOI 
CD<@9E9=. 
3. 1FBF CDBJ9EE A4;O649FES C9D6<KAB= E9C4D4J<9= A9HF<. 
4. #9D6<KAO@< CDB8G>F4@< A9HF974;B6B= CDB@OL?9AABEF< S6?SRFES A9HFP, 
74;B>BA89AE4F < CD<DB8AO= 74;. 
5. #DBJ9EE ?<>6<84J<< B5N9>F4 CDB<EIB8<F FB784, >B784 E>64:<A4 A9 <@99F 
8BEF4FBKAB7B CBF9AJ<4?4 CDB<;6B8<FP A9HFP < 74; 6 B5NT@9, >BFBDO= Q>BAB@<K9E>< 
6O7B89A. 
6. "5BDG8B64A<9 8?S 8B5OK< <7D49F EGM9EF69AAGR DB?P. 
7. �B784 ;4>BAK9AB 5GD9A<9, B5E48>4 (E>64:<AO FDG54@<), < CDB6989AO <ECOF4A<S 
E>64:<AO, FB784 G5<D4RF 5GDB6GR GEF4AB6>G 8?S 8B5OK< A9HF<. 
8. !9>BFBDO9 A9HFSAO9 E>64:<AO EB89D:4F 846?9A<9, KFB5O CB8>4FO64FP A9HFP A4 
CB69DIABEFP. 
9. #DB@OE?B64S A9HFP CBE?9 C9D6<KAB= E9C4D4J<< CBEFGC49F 6 D9>F<H<>4J<BAAGR 
>B?BAAG A4 4F@BEH9DAGR C9D97BA>G. 

 

 

&5<0 1.9. «#@>8AE>645=85 =5DB8» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 
 

Word dictation. 

�0?8A0BP A;54CRI85  ?>=SB8S =0 0=3;89A:>< S7O:5. 
 

'7?9DB8 (carbon), 6B8BDB8 (hydrogen), BE48B> (sediment), CD96D4M4FP (to convert), 

A9D4EF6BD<@O= ( insoluble), 5GDB64S E>64:<A4 (well bore), EOD4S, A9B5D45BF4AA4S A9HFP 
(crude oil), <EE?98B64F9?P (explorer), A9HFSAB9 @9EFBDB:89A<9 (oil field), <;6?9K9A<9 A9HF< 
(oil extraction), E?B:AB9 EB98<A9A<9 (complex mixture), :<8><= (liquid), F6TD8O= (solid), 

74;BB5D4;AO= ( gaseous). 

 

 

&5<0 1.10 « 8@>2O5 70?0AO =5DB8 » 
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ВOCB?A9A<9 BF9ABGAB7B F9EF4 (C<EP@9AAB) 
 

Ask questions and use the words in italics in your answers. The words in brackets will help 

you. 

�0409B5 2>?@>AO : A;>20<, 2O45;5==O< :C@A82><. �A?>;P7C9B5 2>?@>A8B5;P=O5 
A;>20, 40==O5 2 A:>1:0E. 
 

1. In producing gas and oil, efficient performance of producing wells has more and more 

importance (what). 2. A variety of tests must be made to determine the performance of oil and 

gas well (what, what for). 3. There are some well tests to obtain certain information about the 

flow rates (what for). 4. Potential test is a measurement of the largest amount of oil and gas 

produced by a well in a 24-hour period (what kind of). 5. The oil goes to stock tanks (where).   

 

 

&5<0 1.11 «#5@5@01>B:0 =5DB8» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 

 

Make up sentences according to the models to practice the use of the complex sentences.   

%>AB02PB5 ?@54;>65=8S A>3;0A=> <>45;S<. 
 

Model A:  МO ;A49@, GFB QF4 CDB5?9@4 FD95G9F BEB5B7B  
                 6A<@4A<O. 

                 We know that this problem requires special attention. 

 

1. "A< ;A4RF, KFB 5GDB64S GEF4AB6>4 A9<ECD46A4. 2.  O <AHBD@<DB64AO B FB@, >B784 
A9HF9D4;698>4 ;4>BAK<FES. 3. "A< CB?474RF, KFB A4=89AAO= C?4EF CBDB8O 
EB89D:<F ;4?9:< A9HF< < 74;4. 4.  O ;A49@, KFB GEF4AB6>4 QFB7B B5BDG8B64A<S 
BK9AP 64:A4. 5. "A< G69D9AO, KFB A4EBEO A9B5IB8<@O. 
 

Model B:  КB784 6O CDB698UF9 <ECOF4A<9 E>64:<AO, @O E@B- 

                 :9@ BF9A<FP 895<F E>64:<AO.  

                 When you make the well test, we'll be able to determine its   

                  flow rates. 

 

1. �B784 BA< GEF4AB6SF B5E48AGR >B?BAAG, @O 5G89@ 7BFB6O B5EG:84FP @BMABEFP 
E>64:<AO. 2. �B784 BA< G59DGF 5GDB6GR GEF4AB6>G, @O 5G89@ @BAF<DB64FP GEF4AB6>G CB 
8B5OK9. 3. �E?< BA< A4KAGF BC9D4J<< CB B5E48>9 E>64:<AO FDG54@< A4 QFB= A989?9, FB @O 
;4>BAK<@ 6E9 D45BFO 6 EDB>. 4. �E?< QFB 5G89F A9B5IB8<@B, FB @O E@B:9@ CD<@9A<FP 
7<8D46?<K9E><= D4;DO6 C?4EF4 ;4?9:< A9HF<.  
 

 

 

&5<0 1.12 «#@028B5;8 $>AA88 8 �5;8:>1@8B0=88»; «%8AB5<0 3>AC40@AB25==>3> 
C?@02;5=8S» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 

 

 Try to identify the meaning of the following notions. Match the words with their 

definitions. 

#>?OB09B5AP >?@545;8BP 7=0G5=85 A;54CRI8E ?>=SB89. %>>B=5A8B5 A;>20 A 8E 
>?@545;5=8S<8. 
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an absolute monarch 

a dictator 

a constitutional monarch 

monarchy 

the royal family 

anti-monarchical 

 

 

a system of government by a 

monarch 

in opposition to monarchy 

a ruler who has total power 

over his country and who 

ruthlessly (:9EFB>B) rules his 

country 

a monarch who has unlimited 

power 

a monarch whose power is 

limited by a constitution 

the family of a king or queen 

 

&5<0 1.13 «  5=546<5=B 8 <5=5465@O»;  «'AB@>9AB2> =0 @01>BC» 
 

ВOCB?A9A<9 BF9ABGAB7B ;484A<O (C<EP@9AAB) 

 

Make the translation of these texts and do tasks to them. 

#5@52548B5 A;54CRI85 B5:ABO 8 2O?>;=8B5 7040=8S : =8< ?> 20@80=B0<. 
 

                                                         

                                                                     Text 1 

1. To begin your job search, you must identify the kind of job you want, where the jobs are 

and what employers expect. 

2. If you are a student or a graduate of a vocational, technical or professional (university) 

training programme and you have the same interests, you already know the kind of job 

you want. 

3. Begin by thinking about the work you can do. Include the work you have been trained to 

do, work you have actually done and work you enjoy doing. 

4. Next, talk to as many people as possible about your job interests and concerns. 

5. Thinking and talking help you build a network of people interested in helping you. 

6. This network will lead to specific job contacts. 

7. However job counseling is also useful. 

8. Job counseling is a professional service that may include vocational interest and aptitude 

testing; informing and advising about particular jobs; and providing training and 

guidance in the various steps at a job search. 

 

1. Find in the text the equivalents of the following word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2>A>G5B0=89. 
 

#B<E>< D45BFO, CDBH9EE<BA4?PAB9 GK95AB9 ;46989A<9, CDBH9EE<BA4?PAO9 >BAF4>FO, 
E?G:54 FDG8BGEFDB=EF64, CDB69D>4 CDBH9EE<BA4?PAB= CD<7B8ABEF< < <AF9D9EB6, B5GK9A<9 
< DG>B6B8EF6B. 
 

2. Answer the questions. 

"B25BPB5 =0 2>?@>AO. 
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1. What must you do to begin your job search? 

2. What must you include when thinking about the work you can do? 

3. How can you build a network of people interested in helping you? 

4. What is job counseling? 

5. Does it provide training and guidance? 

 

 

                                                    Text 2 

1. Employers want to select employees who have or who can learn the skills necessary to do 

the job. 

2. Most employers will not hire people who are not dependable or who cannot get along 

with others. 

3. Thus, they want to learn as much as possible about the skills, dependability and personal 

characteristics of prospective employees. 

4. Depending on the job you are applying for, you might have to complete an application 

form, participate in one or more employment interviews, submit a resume, take a test, 

have a physical examination or submit references, samples of your work and copies of 

your school records. 

5. Each of these steps in the employment process provides the employer with important 

information about you. 

 

3. Find in the text the equivalents of the following words and word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2 8 A;>2>A>G5B0=89. 
 

#D98CD<A<@4F9?<, D45BFA<><, A46O><, BF5BD D45BFA<>4 (A48T:ABEFP D45BFA<>4), 
?<KAO9 >4K9EF64, CD9F9A8B64FP A4 (D45BFG), E84FP Q>;4@9A, CDB=F< @98<J<AE>B9 
B5E?98B64A<9, CD98EF46<FP D9;R@9 < D9>B@9A84J<<. 
 

4. Which statements are correct? 

�0:85 CB25@645=8S ?@028;P=O5? 
 

1. Employers want to select only such employees who already have the necessary skills. 

2. Most employers will hire only dependable people. 

3. Employers want to learn all except your personal characteristics. 

4. You might have to take a test when applying for a job. 

5. You are never requested to submit references or school records. 

 

                                                         Text 3 

1. Many people believe that answering newspaper want ads is the best method to use. 

2. Job advertisements are found in the classified advertising section of newspapers. 

3. Want ads are also found in professional journals. 

4. There are two main types of want ads: <Help wanted= and <Jobs wanted=. 
You should read want ads for two reasons: first, to learn more general information about 

jobs that are available; second, to learn specific information about a particular job that is 

of interest to you. 

5. An ad may tell the education and work experience that are required for the job, the 

location of the job, the working hours and the pay.  

6. It also tells you how to apply for the particular job. 

7. Avoid ads that make unrealistic offers. 

8. If an ad suggests that you will make a lot of money quickly and easily, do not apply for 

that job. 
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5  Find in the text the equivalents of the following words and word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2 8 A;>2>A>G5B0=89. 
 

"5NS6?9A<9, CB8IB8SM4S D45BF4, CDBH9EE<BA4?PAO9 :GDA4?O, B5NS6?9A<9 B CD<T@9 A4 
D45BFG, «&D95GRFES A4 D45BFG», «�MG D45BFG», CDBH9EE<BA4?PAO= BCOF, 
@9EFBA4IB:89A<9 H<D@O, D45BK<= 89AP, BC?4F4, A9D94?PAO9 CD98?B:9A<S, ;4D45BF4FP 
@AB7B 89A97. 
 

 

 

 

 

4. ("!� "*�!"+!/) %$��%&� ��3 #$" ��'&"+!"� �&&�%&�*�� 

 

&9@4 2.1   $4;89?O GK95AB= 8<EJ<C?<AO %�*.03. �ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 
89SF9?PABEF<  (2 >GDE 3-4 E9@9EFDO) 
 

                                       �>=B@>;P=0S @01>B0 № 1 
!07=0G5=85 
("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO <ABEFD4AAO= 
S;O>. 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88 

�<HH9D9AJ<DB64AAO= ;4KTF 
�0GTB ?@>2>48BAS 2 2845 >BAFDB?PAB= D45BFO. 
�>;8G5AB2> 20@80=B>2 4;S >1CG0RI8EAS – 1 

�@5<S 2O?>;=5=8S: 40 <8=CB 
�040=8S:  9EFB<@9A<S. �<8B6D9@9AAO9 HBD@O 7?47B?B6. �9>E<>4 CB F9@9. 
'<5=8S: KF9A<9 
 

                                         ����!�/ ��/ "�''�.)��"%/ 

 

            �040=8S :>=B@>;P=>9 @01>BO 4;S :>=B@>;S CA2>5=8S 3@0<<0B8:8 

�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 8BCB?A<FP CD98?B:9A<S < C9D969EF< <I A4 DGEE><= S;O>. 
�=AB@C:F8S ?> 2O?>;=5=8R 

�A<@4F9?PAB CDBK<F4=F9 ;484A<9 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S – 40 @<AGF. 
 

�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete and translate the sentences into Russian. 

 

1. Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 
a) were               b) are                c) will 

3. His parents sent&&&&to the grammar school. 

a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 

a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 
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a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 
a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  
a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 
Lomonosov. 

a) to be                 b) was                  c) were 

9. Colleges&&&..different courses. 
a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 

a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 

a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 

a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 

a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 

a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 

a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
 

"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
 

�<F9D4FGD4 8?S B5GK4RM<IES (ECD46BKA4S, @9FB8<K9E>4S < 8D.): 4A7?B-DGEE><= < 
DGEE>B-4A7?<=E><= E?B64DP. 
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 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S: 40 @<AGF. 
�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete and translate the sentences into Russian. 

 

1 Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 
a) were               b) are                c) will 

3. His parents sent&&&&to the grammar school. 
a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 

a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 
a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 
a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  
a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 
Lomonosov. 

a) to be                 b) was                  c) were 

9. Colleges&&&..different courses. 
a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 
a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 
a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 
a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 
a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 
a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 
a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 

 

�;RG8: 
 

1. a 

2. c 

3. a 

6. b 

7. b 

8. b 

11. a 

12. a 

13. c 

16. a 

17. c 

18. a 
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4. c 

5. a 

  

 

9. a 

10. b 

14. a 

15. b 

19. a 

20. b 

 

(:0;0 >F5=>: 

 

0-1 BL<5B> – 5 54??B6 
2-4 BL<5>< – 4 54??4 
5-6     BL<5B> -   3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 
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                                                               �4 6FBDB9 ;484A<9 - 14  

 

'0ABP 1. �>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
                Complete the sentences and translate them into Russian. 

 

1. You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor allow to see the results of your work? 
a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 
a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
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a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 

a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 

a) Can                                   b) Was                             c) Is 

11. Mobile telephones calls&&..a wide geographic area. 
a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 

weather. 

a) meet                                   b) is meeting                         c) met 

13. &&&&&..secretary is constantly answering phone calls. 

a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 
a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 
16. &&&&&is a standard way to send messages that include multimedia content to and 
from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 
18. It &&&.necessary for a company to have good equipment. 
a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  
some specialists only                                   

 

 

'0ABP2. #5@52548B5 2O@065=8S =0 @CAA:89 S7O:. 
               Translate the statements into Russian. 

 

1. B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 

5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 

9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
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a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
a) to make gadget                         b) was to make gadget          c) making gadget 

14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 

     

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
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'0ABP 1. �>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
                Complete the sentences and translate them into Russian. 

 

      1 You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor  allow to see the results of your work? 

a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 
a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 
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a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 
a) Can                                   b) Was                             c) Is 

11. Mobile telephones calls&&..a wide geographic area. 
a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 

weather. 

a) meet                                   b) is meeting                         c) met 

13. &&&&&..secretary is constantly answering phone calls. 
a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 
a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 
16. &&&&&is a standard way to send messages that include multimedia content to and 
from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 
18. It &&&.necessary for a company to have good equipment. 
a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  
some specialists only                                   

 

�;RG8: 
 

1. b 

2. a 

3. a 

4. a 

5. b 

6. b 

7. c 

8. a 

9. c 

10. a 

11. a 

12. c 

13. b 

14. b 

15. a 

16. b 

17. c 

18. b 

19. a 

 

(:0;0 >F5=>:: 
 

0-1 BL<5B> – 5 54??B6 
2-4 BL<5>< – 4 54??4 
5-6 BL<5B> – 3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 
 

 

'0ABP2. #5@52548B5 2O@065=8S =0 @CAA:89 S7O:. 
               Translate the statements into Russian. 

 

      1 B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 
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5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 

9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
a) to make gadget                         b) was to make gadget          c) making gadget 

14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 

     

 

�;RG8: 
1. a 

2. a 

3. a 

4. c 

5. c 

6. a 

7. c 

8. b 

9. c 

10. a 

11. b 

12. b 

13. a 

14. b 
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 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 40 @<AGF. 
 

�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete the sentences and translate them into Russian. 

 

1. Two overriding principles apply &&.word petroleum  production. 
a. on  

b. of 

c. to 

d. in         

2. In any region, the large fields &&usually &&..first . 
a. are discovered 

b. have been discovered 

c. are being discovered 

d. will be discovered          

3. &&..sedimentary basin in the Persian Gulf region contains two-thirds of super giant 

fields. 

a. the Algerian 

b. the Arabian-Iranian 

c. the United States 

d. the Russian          

4. Worldwide, approximately &&..sedimentary basins are known to exist. 
a. 1000 

b. 100 

c. 800 

d. 600            

5. Why is the Arabian-Iranian sedimentary basin predominant?  

a. it contains more than 20 super giant  fields 

b. it is insignificant 

c. it has more oil production 

d. it contains about one-half of all the oil so far discovered               

6. Modern petroleum exploration is an &.. process . 
a. expensive 

b. ruinous 

c. efficient 

d. available 
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7. Most of the underexplored basins &&.in difficult environments. 
a. locate 

b. are located 

c. are locating 

d. are being located            

8. Petroleum reserves are reported by &&& . 
a. U.S Geological Survey 

b. petroleum engineers 

c. technological conditions 

d. oil companies and some governments    

9. Future exploration &&&&involve the smaller basins. 
a. must 

b. will be able to 

c. is allowed to 

d. will have to                             

10. &&&&.. is thought to have had an estimated 41 percent of the world’s total oil 
endowment. 

a. the Middle East 

b. America 

c. Eastern Europe 

d. Western Europe                          

11. &&&.. are thought to contain significant prospects. 
a. Africa, Asia and South America 

b. Middle East and South Europe 

c. Western Europe 

d. Middle east 

12. &&&&..is the third largest oil field in the world and the largest offshore. 

a. Prudhoe Bell 

b. Samotlor and Romashkino 

c. Saffaniayah offshore 

d.Cantarell offshore           

13. Russia is thought &&&. the best potential for new discoveries . 
a. possessing 

b. possessed 

c. to possess 

d. to have possessed                         

14. Russian oil is derived &&& many sedimentary basins. 

a. for 

b. in 

c. on 

d. from                  

15. Russia has two super giant oil fields. 

a. Bashkortostan and Tatarstan 

b. Samotlor and Romashkino 

c. Perm and Orenburg 

d. Russian Vtoroe Baku                    

16. Basins in the United States &&..intensively &&&. 
a. have been explored 

b. have been foun 

c. have been discovered 

d. have been supplied         

17. The United States has produced &&&..than any other country. 
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a. much 

b. many 

c. more 

d. less                    

     18. How was called the method, in which early oil wells were drilled with impact-type 

tools? 

a. up-and-down motion 

b. tool dresser 

c. cable-tool drilling 

d. <gusher=                          
19. When did rotary drilling become the preferred penetration method for oil and gas 

wells? 

a. in the middle of the 19th century 

b. during the middle and late 20th century 

c. in the 21st century 

d. at the beginning of the 20
th

 century             

20. The drill bill is connected &&&. the surface equipment through the drill pipe. 
a. on 

b. with 

c. for 

d. to 
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�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete the sentences and translate them into Russian: 

 

 

�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete the sentences and translate them into Russian. 

1. Two overriding principles apply &&.word petroleum  production. 
a. on  

b. of 

c. to 

d. in         

2. In any region, the large fields &&usually &&..first . 
a. are discovered 

b. have been discovered 
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c. are being discovered 

d. will be discovered          

3. &&..sedimentary basin in the Persian Gulf region contains two-thirds of super giant 

fields. 

a. the Algerian 

b. the Arabian-Iranian 

c. the United States 

d. the Russian          

4. Worldwide, approximately &&..sedimentary basins are known to exist. 
a. 1000 

b. 100 

c. 800 

d. 600            

5. Why is the Arabian-Iranian sedimentary basin predominant?  

a. it contains more than 20 super giant  fields 

b. it is insignificant 

c. it has more oil production 

d. it contains about one-half of all the oil so far discovered               

6. Modern petroleum exploration is an &.. process . 
a. expensive 

b. ruinous 

c. efficient 

d. available 

7. Most of the underexplored basins &&.in difficult environments. 
a. locate 

b. are located 

c. are locating 

d. are being located            

8. Petroleum reserves are reported by &&& . 
a. U.S Geological Survey 

b. petroleum engineers 

c. technological conditions 

d. oil companies and some governments    

9. Future exploration &&&&involve the smaller basins. 
a. must 

b. will be able to 

c. is allowed to 

d. will have to                             

10. &&&&.. is thought to have had an estimated 41 percent of the world’s total oil 
endowment. 

a. the Middle East 

b. America 

c. Eastern Europe 

d. Western Europe                          

11. &&&.. are thought to contain significant prospects. 
a. Africa, Asia and South America 

b. Middle East and South Europe 

c. Western Europe 

d. Middle east 

12. &&&&..is the third largest oil field in the world and the largest offshore. 

a. Prudhoe Bell 

b. Samotlor and Romashkino 
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c. Saffaniayah offshore 

d.Cantarell offshore           

13. Russia is thought &&&. the best potential for new discoveries . 
a. possessing 

b. possessed 

c. to possess 

d. to have possessed                         

14. Russian oil is derived &&& many sedimentary basins. 
a. for 

b. in 

c. on 

d. from                  

15. Russia has two super giant oil fields. 

a. Bashkortostan and Tatarstan 

b. Samotlor and Romashkino 

c. Perm and Orenburg 

d. Russian Vtoroe Baku                    

16. Basins in the United States &&..intensively &&&. 
a. have been explored 

b. have been found 

c. have been discovered 

d. have been supplied         

17. The United States has produced &&&..than any other country. 
a. much 

b. many 

c. more 

d. less                    

     18. How was called the method, in which early oil wells were drilled with impact-type 

tools? 

a. up-and-down motion 

b. tool dresser 

c. cable-tool drilling 

d. <gusher=                          
19. When did rotary drilling become the preferred penetration method for oil and gas 

wells? 

a. in the middle of the 19th century 

b. during the middle and late 20th century 

c. in the 21st century 

d. at the beginning of the 20
th

 century             

20. The drill bill is connected &&&. the surface equipment through the drill pipe. 
a. on 

b. with 

c. for 

d. to 

 

�;RG8: 
 

1. c 

2. a 

3. b 

4. d 

5. a 

8. d 

9. d 

10. a 

11. b 

12. c 

15. b 

16. a 

17. c 

18.c 

19.b 
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6. c 

7. b 

13. c 

14. d 

20.b 
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�O1@0BP >B25B 87 G5BO@TE 20@80=B>2. 
Choose the right answer. 

 

1. What does the word <petroleum= mean? 
 

     a) petroleum and hydrocarbons; 

     b) petroleum and crude oil; 

     c) petroleum and natural gas; 

d) petroleum and oil field  

            

2. Liquid oil was first used as a && . 
 

 a) medicine; 

 b) fuel; 

 c) illumination; 

 d) lubricant 
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3. Liquid petroleum was a more easily transportable &&.. of energy. 
 

 a)  key; 

 b)  spring; 

 c) source 

 d) clue 

 

4. The need for &&&. illumination made it necessary to search for new sources of oil. 

 

 a) worst; 

 b) good; 

 c) better; 

 d) bad 

 

5 This is the &&&. company in the world.  
 

 4) bigger; 

 b) biggest; 

 c) the biggest; 

 d) big 

 

6. The drill bit is connected to the surface equipment through the drill pipe. 

 

 a) 5O? EB98<ATA; 
 b) EB98<A<?<; 

 E) EB98<ATA; 

 d) 5G89F EB98<ATA 

  

7. Oil fields were found in Europe and East Asia. 

 

 a) 5G8GF A4=89AO; 
 b) 5O?< A4=89AO; 
 E) A4IB8SFES; 
 d) A4IB8<?ES  
             

8. By the mid-19
th

 century kerosene, or oil derived && coal was in common use. 
 

  a) by; 

  b) for; 

  c) from; 

  d) to 

 

9. Two overriding principles apply &.. world petroleum production. 
 

       a) for; 

  b) to; 

  c) from; 

   d) at 

 

10. Pipelines have been found to be &&.. method to transport petroleum. 
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 a) the safest 

 b) more safe; 

 c) safer; 

 d) safe 

 

11.In order to provide supplies when production is &.. than demand, longer- term storage of 

oil and gas is sometimes desirable. 

 

a) low; 

b) more lower; 

c) the lowest; 

d) lower 

 

12. Only a production test &&& establish the potential productivity of a formation. 

 

 a) had; 

 b) will be able; 

 c) is; 

 d) can 

 

13. The United Kingdom is &&. important North sea exporter. 
 

 a) a; 

 b) an; 

 c) the; 

 d) – 
 

14. The world petroleum was first used && 1556. 
 

  a) on; 

  b) at; 

  c) in; 

  d) to 

 

15. They are laying a pipeline &&. Siberia. 
 

  a) across; 

       b) over; 

  c) through; 

  d) above 

 

16. She &&& the problems of deriving the oil. 
 

   a) spoke on; 

    b) spoke of; 

    c) spoke for; 

    d) spoke about  

 

17. How &.. oil has the company got? 
 

 a) many; 

 b) little 
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 c) much; 

 d) few 

 

18. She &&& a course in civil engineering. 
 

 a) makes; 

 b) does; 

 c) made; 

 d) did. 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF, ?<EF, 5G@474, >B@CPRF9D.  

 

                                       #���& #$�#"����&��/ 

 

'A;>28S 2O?>;=5=8S 7040=8S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
 

�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54?? 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 18. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S: 40 @<AGF. 
 

�O1@0BP >B25B 87 G5BO@TE 20@80=B>2. 
Choose the right answer. 

1. What does the word <petroleum= mean? 
 

     a) petroleum and hydrocarbons; 

     b) petroleum and crude oil; 

     c) petroleum and natural gas; 

d) petroleum and oil field  

            

2. Liquid oil was first used as a && . 
 

 a) medicine; 

 b) fuel; 

 c) illumination; 

 d) lubricant 

 

3. Liquid petroleum was a more easily transportable &&.. of energy. 
 

 a)  key; 

 b)  spring; 

 c) source 

 d) clue 

 

4. The need for &&&. illumination made it necessary to search for new sources of oil. 

 

 a) worst; 

 b) good; 

 c) better; 

 d) bad 
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5 This is the &&&. company in the world.  
 

 4) bigger; 

 b) biggest; 

 c) the biggest; 

 d) big 

 

6. The drill bit is connected to the surface equipment through the drill pipe. 

 

 a) 5O? EB98<ATA; 
 b) EB98<A<?<; 
 E) EB98<ATA; 

 d) 5G89F EB98<ATA 

  

7. Oil fields were found in Europe and East Asia. 

 

 a) 5G8GF A4=89AO; 
 b) 5O?< A4=89AO; 
 E) A4IB8SFES; 
 d) A4IB8<?ES  
             

8. By the mid-19
th

 century kerosene, or oil derived && coal was in common use. 
 

  a) by; 

  b) for; 

  c) from; 

  d) to 

 

9. Two overriding principles apply &.. world petroleum production. 
 

       a) for; 

  b) to; 

  c) from; 

   d) at 

 

10. Pipelines have been found to be &&.. method to transport petroleum. 

 

 a) the safest 

 b) more safe; 

 c) safer; 

 d) safe 

 

11.In order to provide supplies when production is &.. than demand, longer- term storage of 

oil and gas is sometimes desirable. 

 

a) low; 

b) more lower; 

c) the lowest; 

d) lower 

 

12. Only a production test &&& establish the potential productivity of a formation. 
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 a) had; 

 b) will be able; 

 c) is; 

 d) can 

 

13. The United Kingdom is &&. important North sea exporter. 
 

 a) a; 

 b) an; 

 c) the; 

 d) – 
 

14. The world petroleum was first used && 1556. 
 

  a) on; 

  b) at; 

  c) in; 

  d) to 

 

15. They are laying a pipeline &&. Siberia. 
 

  a) across; 

       b) over; 

  c) through; 

  d) above 

 

16. She &&& the problems of deriving the oil. 
 

   a) spoke on; 

    b) spoke of; 

    c) spoke for; 

    d) spoke about  

 

17. How &.. oil has the company got? 

 

 a) many; 

 b) little 

 c) much; 

 d) few 

 

18. She &&& a course in civil engineering. 
 

 a) makes; 

 b) does; 

 c) made; 

 d) did. 
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�;RG8: 
1. E 
2. b 

3. c 

4. c 

5. c 

6. c 

7. b 

8. c 

9. b 

10. a 

        11.b 

        12. d 

        13. b 

        14. c 

        15. a 

         16. b 

         17. c 

         18. a 
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�O15@8B5 ?@028;P=O9 >B25B. 
Circle the correct item. 

 

1. Her&&.as a dancer came to an end when she broke her leg. 
a) profession;            b)job;             c) career;          d) occupation 

2. My father has been unable to find a&&&& for the past two years. 
a) profession;             b) job;            c) career;          d) occupation 
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3. You must write your name, age and&&&.on the application forms. 
a) profession;             b) job;             c) career;          d) occupation 

4. John is a doctor by&&&&and has his own practice in London. 
a) profession;              b) job;             c) career;          d) occupation 

5. My parents were a great&&&&&&.to me when I lost my job. 
a) confidence;              b) mature;        c) support;       d) courage 

6. The contacts I had, helped me&&&&when I was looking for a job. 
a) get my foot at the door;     b) novice;    c) face;       d) socialize 

7. Salespeople need to be&&&..to get people to buy their products. 

a) persuasive;              b) brave;        c) creative;           d) patient 

8. Teachers need to be very&&&&as students sometimes take a long time to learn things. 
a) intelligent;                b) polite;              c) patient;            d) friendly 

9. Surgeons must be very&&&&.as they should not make mistakes in their work. 
a) intelligent;                  b) accurate;           c) fair;                d) friendly 

10. Judges should be&&&..and give all the evidence equal consideration. 

a) persuasive;                  b) accurate;           c) fair;                 d) intelligent 

11. &&&..work in places from which you can buy books. 
a) librarians;                      b) booksellers;     c) publisher;     d) editor 

12. &&&..uses scientific knowledge to develop machines. 

a) firefighter;                  b) mechanic;             c) engineer;     d)lifeguard 

13. I was made&&&..when the company closed down. 
a) fired;               b) redundant;                  c) hired;            d) trained 

14. If you want&&&&&for the job you should write to the company. 
a) appoint;            b) apply;                c) employ;              d) be on probation 

15. Ann is very&&&.worker, I can always depend on her if I want something on time. 
a) helpful;             b) persistent;           c) selfish;            d) reliable 

16. Seb is a(n)&&&..person, he always sees positive side of even the most difficult 
situation. 

a) selfish;              b) generous;              c) optimistic;      d) stubborn 

17. Mary is very&&&..; when I have a lot of work to do. 
a) helpful;               b) impatient;              c) generous;        d) stubborn 

18.She&&&&.for a job as a nanny in Madrid. 
a) looks;                  b) is looking;              c) to look;          d) has been looking 

19. He usually&&&&his office at 6.00 p.m. 
a) leaves;                  b) is leaving;       c) has left;                d) leaved 

20. Please bring a copy of your&&&.when you come from your interview. 
a) CV;              b) application form;   c) advertising;      d) section of newspaper  
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�O15@8B5 ?@028;P=O9 >B25B. 
Circle the correct item. 

 

      1 Her&&.as a dancer came to an end when she broke her leg. 
a) profession;            b)job;             c) career;          d) occupation 

2. My father has been unable to find a&&&& for the past two years. 
a) profession;             b) job;            c) career;          d) occupation 

3. You must write your name, age and&&&.on the application forms. 
a) profession;             b) job;             c) career;          d) occupation 

4. John is a doctor by&&&&and has his own practice in London. 

a) profession;              b) job;             c) career;          d) occupation 

5. My parents were a great&&&&&&.to me when I lost my job. 
a) confidence;              b) mature;        c) support;       d) courage 

6. The contacts I had, helped me&&&&when I was looking for a job. 
a) get my foot at the door;     b) novice;    c) face;       d) socialize 

7. Salespeople need to be&&&..to get people to buy their products. 
a) persuasive;              b) brave;        c) creative;           d) patient 

8. Teachers need to be very&&&&as students sometimes take a long time to learn things. 
a) intelligent;                b) polite;              c) patient;            d) friendly 

9. Surgeons must be very&&&&.as they should not make mistakes in their work. 

a) intelligent;                  b) accurate;           c) fair;                d) friendly 

10. Judges should be&&&..and give all the evidence equal consideration. 
a) persuasive;                  b) accurate;           c) fair;                 d) intelligent 

11. &&&..work in places from which you can buy books. 
a) librarians;                      b) booksellers;     c) publisher;     d) editor 

12. &&&..uses scientific knowledge to develop machines. 
a) firefighter;                  b) mechanic;             c) engineer;     d)lifeguard 

13. I was made&&&..when the company closed down. 
a) fired;               b) redundant;                  c) hired;            d) trained 

14. If you want&&&&&for the job you should write to the company. 
a) appoint;            b) apply;                c) employ;              d) be on probation 

15. Ann is very&&&.worker, I can always depend on her if I want something on time. 
a) helpful;             b) persistent;           c) selfish;            d) reliable 

16. Seb is a(n)&&&..person, he always sees positive side of even the most difficult 

situation. 

a) selfish;              b) generous;              c) optimistic;      d) stubborn 

17. Mary is very&&&..; when I have a lot of work to do. 
a) helpful;               b) impatient;              c) generous;        d) stubborn 

18.She&&&&.for a job as a nanny in Madrid. 
a) looks;                  b) is looking;              c) to look;          d) has been looking 

19. He usually&&&&his office at 6.00 p.m. 
a) leaves;                  b) is leaving;       c) has left;                d) leaved 

20. Please bring a copy of your&&&.when you come from your interview. 
a) CV;              b) application form;   c) advertising;      d) section of newspaper  

 

�;RG8: 
1. c 

2. b 

3. d 

6. a 

7. c 

8. c 

11. b 

12. c 

13. a 

16. c 

17. a 

18. b 
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4. a 

5. c 

9. b 

10. c 

14. b 

15. d 

19. a 

20. a 
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;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= BF69F <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
 

�=AB@C:F8S ?> 2O?>;=5=8R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44 . +4EFP 1 – 15 ;484A<= 

                                                             +4EFP 2 – 10 ;484A<= 

                                                             +4EFP 3 – 8 ;484A<= 

                                                              +4EFP 4 -11 ;484A<=. 
 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<= – 60 @<AGF. 
 

'0ABP 1. %>AB028BP ?0@O Q:2820;5=B>2. 
                Choose the equivalents. 

 

1. CD98CD<SF<9 
2. C?4F9: 

3. K4EFAB9 CD98CD<SF<9 
4. FB64D<M9EF6B 
5. >BDCBD4J<S 
6. CB>GC>4 
7. A4?B7 
8. BF69FEF69AABEFP 
9. 8B?7 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 
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10. CD<5O?P 
11. 4>J<BA9D 
12. >4C<F4?B6?B:9A<9 
13. J9A4 
14. EG@@4 
15. 4>J<S 

j) price 

k) proprietorship 

l) share 

m) corporation 

n) purchase 

o) amount 

 

'0ABP 2. �0?8H8B5 3;03>;O 2 D>@<0E ?@>H54H53> ?@>AB>3> 2@5<5=8 8      ?@8G0AB8S 
2. 

                  Put down the verbs in Past Simple and Participle II. 

 

1. to lose 

2. to get 

3. to obtain 

4. to declaire 

5. to sell 

 

6. to own 

7. to invest 

8. to hold 

9. to mean 

10. to buy 

 

'0ABP 3. !0?8A0BP C:070==O5 2OH5 D>@<O 2 A>>B25BAB2CRI8E D>@<0E 
AB@040B5;P=>3> 70;>30. 
Put down the verbs into Passive Voice. 

 

1. are investing 

2. was selling 

3. had obtained 

4. bought 

5. wick have issued 

6. will mean 

7. will get 

8. loses 

 

'0ABP 4. �>?>;=8B5 ?@54;>65=8S. 
                Complete the sentences. 

 

1. If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
a) need;               b) may;                   c) to be 

7. You&&&&pay taxes last month. 

a) can;                  b) had to;                 c) will give 

8. The corporation&&.. act like a person. 

a) may;                 b) were to;               c) are to 

9. They&&&..to combine their resources. 
a) have;                 b) has;                      c) will 

10. I&&&..obtain loan from your company. 

a) could;                b) might;                  c) am 

11. They&&.sell assets to pay debts. 
a) must;                  b) play;                    c) could 
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�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF,  ?<EF, 5G@474, AB:A<JO. 
�<F9D4FGD4 8?S B5GK4RM<IES: 4A7?B-DGEE><9 < DGEE>B-4A7?<=E><9 E?B64D<. 
                    

 

                                     #���& #$�#"����&��/ 

 

'A;>28S 2O?>;=5=8S 7040=8S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44 – +4EFP 1 – 15 ;484A<= 

                                                                +4EFP 2 – 10 ;484A<= 

                                                                 +4EFP 3 -  8 ;484A<= 

                                                                 +4EFP 4 – 11 ;484A<= 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 60 @<AGF 
 

 

'0ABP 1. %>AB028BP ?0@O Q:2820;5=B>2. 
                Choose the equivalents. 

 

16. CD98CD<SF<9 
17. C?4F9: 

18. K4EFAB9 CD98CD<SF<9 
19. FB64D<M9EF6B 
20. >BDCBD4J<S 
21. CB>GC>4 
22. A4?B7 
23. BF69FEF69AABEFP 
24. 8B?7 
25. CD<5O?P 
26. 4>J<BA9D 
27. >4C<F4?B6?B:9A<9 
28. J9A4 
29. EG@@4 
30. 4>J<S 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 

j) price 

k) proprietorship 

l) share 

m) corporation 

n) purchase 

o) amount 

 

'0ABP 2. �0?8H8B5 3;03>;O 2 D>@<0E ?@>H54H53> ?@>AB>3> 2@5<5=8 8      ?@8G0AB8S 
2. 

                  Put down the verbs in Past Simple and Participle II. 

 

11. to lose 

12. to get 

13. to obtain 

14. to declaire 

15. to sell 

 

16. to own 

17. to invest 

18. to hold 

19. to mean 

20. to buy 

 

'0ABP 3. !0?8A0BP C:070==O5 2OH5 D>@<O 2 A>>B25BAB2CRI8E D>@<0E 
AB@040B5;P=>3> 70;>30. 
Put down the verbs into Passive Voice. 
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9. are investing 

10. was selling 

11. had obtained 

12. bought 

13. wick have issued 

14. will mean 

15. will get 

16. loses 

 

'0ABP 4. �>?>;=8B5 ?@54;>65=8S. 
                Complete the sentences. 

 

      1 If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
a) need;                 b) may;                   c) to be 

7. You&&&&pay taxes last month. 
a) can;                    b) had to;                 c) will give 

8. The corporation&&.. act like a person. 
a) may;                    b) were to;               c) are to 

 9. They&&&..to combine their resources. 

a) have;                     b) has;                      c) will 

10. I&&&..obtain loan from your company. 
a) could;                     b) might;                  c) am  

11. They&&.sell assets to pay debts. 
a) must;                        b) play;                    c) could 

 

(:0;0 >F5=>: 

 

42-44 CD46<?PAOI BF69FB6 – 5 54??B6 
35-41 CD46<?PAOI BF69FB6 – 4 54??4 
20-34 CD46<?PAOI BF69FB6 – 3 54??4 
19 < @9APL9 – 2 54??4 
 

�;RG8: 

1 

1.c, 2.f, 3.k, 4.h, 5.m, 6.n, 7.e, 8.g, 9.b, 10.d, 11.i, 12.a, 13.j, 14.o, 15.l. 

 

2. 

    1.lost, lost 

    2. got, got 

    3. obtained, obtained 

4. declared, declared 

5. sold, sold 

6. owned, owned 

7. invested, invested 

8.held, held 

9.meant, meant 

10. bought, bought 

 

3. 

1. are being invested 

2. was being sold 

3. had been obtained 

5. will have been issued 

6. will be meant 

7. will be got 
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4. was (were) bought 8. is lost 

 

4. 

1.a, 2.b, 3.c, 4.b, 5.b, 6.a, 7.b, 8.a, 9.a, 10.a, 11.a. 

 

 

 

 

 

 

 

�8B5@0BC@0 4;S ?>43>B>2:8 : B5:CI59 8 ?@><56CB>G=>9 0BB5AB0F88 

 

"A=>2=0S ;8B5@0BC@0:  
 �H4A4EP964 ".�.  �A7?<=E><= S;O> : 11 >?4EE: 54;B6O= GDB69AP / ".�.�H4A4EP964, 
�.�. <I9964, �. .�4D4AB64. – 8-9 <;8., EF9D9BF<C. –  .: #DBE69M9A<9, 2023. – 199, [1} c. : 

<?. – (Rainbow English) 30 HB + -�% �=0=8C< 

�>?>;=8B5;P=0S ;8B5@0BC@0:  
 �<F6<AE>4S %.%. �A7?<=E><= S;O> 8?S F9IA<K9E><I EC9J<4?PABEF9=: GK95AB9 CBEB5<9/ 
%.%.�<F6<AE>4S. –  BE>64: �!($� –  , 2023. – 252 E. – (%D98A99 CDBH9EE<BA4?PAB9 
B5D4;B64A<9).  -�% �=0=8C< 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 


